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Tkm10m = m 7km50m = m
13010m = km m 9250m = km m
K EFNZFNOEZLLBNT, =, <, >ZEDMN>TIEZFTLLS,

2750m 2km700m 6900m 6km9000m

9km88m 9880m 2250m 2km30m
3km800m + 2000m — km m
10km100m - 1010m — km m
6km600Om + 1km600m — km m
4km300m + 450m — km m
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[ JehTREIHENEVNEL &S,

1kmiom =1| 1010 | m 7kms50m = | 7050 | m
13010m =| 13 [km| 10 |m 9250m =| 9 |km| 250 |m
KX ETNFNOEHZLLSNRT, =, <. >EDIDMNO>TIAXL&LS,

2750m > 2km700m 6900m < | 6km9000m

9km88m < 9880m 2250m > 2km30m
3km800m + 2000m — 5 km 800 m
10km100m 1010m - 9 km 90 m
6kme0Om + 1kmoe0Om — 8 km 200 m
4km300m + 450m — 4 km 750 m
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